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— i i | 100fH/mest ¥ {E/me 1,100 620 | 2,100 | 1,300 680 360 220 0 1.4 2 0 0 640 0 9.8
K Wy mitasnsanze|  {#/mo 0 0 0 0 0 0 BEh g s g s
BRI AR TEOL S W 00m/0TF|l mg/e | <0.0001| <0.0001| <0.0001| <0.0001| <0.0001| <0.0001| <0.001 <€0.001| <0.0001 <0.0001| <0.0001 <0.0001
K O OE O o b & | 00005me/0 F[ mg/@ | <0.00005| <0.00005| <0.00005| <0.00005| <0.00005| <0.00005| <0.00005 <0.00005| <0.00005 <0.00005| <0.00005 <0.00005
Ly Kk ZFE o kA W 0ome/T| mg/0 <0.001| <0.001| <0.001| <0.001| <0.001| <0.001| <0.001 €0.001|  <€0.001 <0.001|  <0.001 <0.001
# kR O oz o fe & | o0olm/elF[ mg/0 €0.001| <0.001| <0.001| <0.001| <0.001| <0.001| <0.001{<0.001| <0.001|  0.011{<0.001 0.004 0.020| <0.001 0.003
E % K O %2 o & & | 00me/wT| mg/0 €0.001| <0.001| <0.001| <0.001| <0.001| <0.001| <0.001 €0.001|  <€0.001 <0.001|  <0.001 <0.001
AN ofi oy omooa b A& | 0.05me/hT| mg/0 <0.005| <0.005| <0.005| <0.005| <0.005| <0.005| <0.005 <0.005|  <0.005 <0.005|  <0.005 <0.005
YT U A E Yy RO > | 0.0img/0LhF| mg/0 €0.001| <€0.001| <0.001| <0.001| <0.001| <0.001| <0.001 <0.001|  <0.001<0.001 <0.001[  <0.001 <0.001
WO HE A E K OO W RY B S 1ome/0LLF|  mg/0 0.12 0.12 0.14 0.14 1.31 1.31 1.02| 0.42 0.91 0.16] 0.13 0.14 0.2| 0.15 0.16
7 v F Ak O Z 0 i 7 0.8mg/0LLF|  mg/0 0.10 0.10 0.07 0.07 0.06 0.06 0.07| <0.05|  0.056|  <0.05| <0.05 <0.05 0.05| <0.05 <0.05
K v o%F R O E O (L 7 1.ome/08LF|  mg/0 0.020 0.020] 0.018] o0.018 0.020] 0.020] o0.021] 0.015] 0.018] 0.018] 0.014 0.015 0.017| 0.014 0.015
g # (4 B # | 0.002mg/0LF| mg/0 | <0.0001| <0.0001| <0.0001| <0.0001| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001|  <0.0001 <0.0001
1, 4 — ¥ 4 % HF | 0.05me/eF| mg/o <0.005| <0.005| <0.005| <0.005| <0.005| <0.005| <0.005 <0.005|  <0.005 <0.005|  <0.005 <0.005
YA—1,2—-YsuoxF L] 004mg/eLlT| mg/0 | <0.0001| <0.0001| <0.0001| <0.0001| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001|  <0.0001 <0.0001
D = - A v 0.02me/08tF| mg/e | <0.0001| <0.0001| <0.0001| <0.0001| 0.0001 [ 0.0001 | <0.0008<0.0001|<0.00015| <0.0001 <0.0001| <0.0001 <0.0001
F b % 7 mom = F L | 00lm/e2F| mg/0 | <0.0001| <0.0001| <0.0001| <0.0001| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001|  <0.0001 <0.0001
U 2z m o om = F L »| 003me/0LF| mg/0 | <0.0001| <0.0001| <0.0001| <0.0001| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001 <0.0001
~ v ¥ > | 0.0ing/0BF| mg/0 | <0.0001| <0.0001| <0.0001| <0.0001| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001|  <0.0001 <0.0001
1 it 0.6mg/2LL F|  mg/0 0.17]<0.006 0.08 0.63] 0.14 0.31 0.25| 0.16 0.19
s = = fit B | 0.02mg/0L0F| mg/0 0.001 <0.001|  0.001|<0.001|  <0.001|  <0.001| <0.001|  <0.001
s = * 2| 0.06me/08tF| mg/0 0.018]0.0008| 0.0061|  0.047/0.0014|  0.0097 0.025| 0.0009|  0.0076
v = = B | 0.04mg/0LA | mg/0 0.005(<0.001] 0.0025|  0.011] 0.004]  0.0038]  0.010 | 0.004 0.005
Y 7 owm ® s omow A K v 0.1mg/2LL F|  mg/0 0.003]0.0077|  0.002|  0.034]0.0090 0.021 0.030 | 0.0064 0.016
5" # B | 0.0img/0LAF| mg/0 <0.001{<0.001|  <0.001| <0.001/<0.001|  <0.001|  <0.001| <0.001 0.001
Wb U N @ A v 0.1mg/eLF|  mg/0 0.070 | 0.014|  0.045 0.11] 0.018 0.054 0.083| 0.014 0.042
[ A S = B = fi 0.2mg/0LL F|  mg/0 0.004{<0.001| 0.0015|  0.021] 0.003 0.005 0.011| 0.004 0.004
7 o\ o® ¥ s wmou A & | 003m/TF| mg/l 0.024]0.0033]  0.013|  0.040 {0.0097 0.017 0.031| 0.0035 0.014
7 = ES * 2| 0.09me/08F| mg/0 0.093/0.0019|  0.005| 0.0082/0.0016]  0.0043|  0.0053| 0.0005|  0.0028
N N S k| 0.08me/02LF| mg/0 0.003]<0.001]  0.001|  0.003]<0.001 0.001 0.003| <0.001 0.001
/o Ok oz o ik 7 1.0mg/0LL F|  mg/0 €0.005| <0.005| <0.005| <0.005] <0.005| <0.005] <0.005[<0.005| <0.005]  0.009{<0.005 0.007 0.009| <0.005|  <0.005
TAI=ZT AR OTZEOILS WY 0.2mg/0LF|  mg/0 0.037|  0.037] 0.708] 0.708] 0.117] 0.117]  0.005[<0.005| <0.005|  0.007| 0.005 0.005 0.007| 0.005 0.005
5 S O N SO N (4 ) 0.3mg/0AF|  mg/0 0.06 0.06 1.01 1.01 0.15 0.15|  <0.01| <0.01|  <0.01]  0.003[<0.001 0.001 <0.01| <0.01 <0.01




X B RN Ji=3 X % X
IE o KT | w H 7K 7w & & K OJE A KSR I JE K5 R R OK 5 R
Ewm | FH|ES | FH | Ea | FY | k& |kETFYH | & |kE FY | &6 (&K FD
ok O F o A B! Lomg/@EL F|  mg/0 €0.001[ <0.001[ <0.001| <0.001| <0.001| <0.001 0.003/<0.001| 0.0015 0.001<0.001 0.001 0.009| <0.001 0.002
FrFYV T AR BEOILAYD 200me/0LLF|  mg/0 20.3 20.3 17.6 17.6 19.9 19.9 22.0[ 19.0 20.1 25.3| 24.8 24.9 24.00 23.4 23.7
~ v Ay kO EOED 0.05me/0LA F[  mg/0 0.006 0.006 0.209 0.209 0.011 0.011]  <0.001[<0.001| <0.001| <0.001[<0.001 <€0.001 <€0.001 <0.001
S 1t L7 A 7 v 200me/0LLF|  mg/0 21.7 27.7 23.8 23.8 29.4 29.4 3151 21.1 27.0 39.0] 29.5 33.7 38.0 27.5 31.8
AN TR~ T 32y N () 300me/QL F|  mg/0 13.7 13.7 40.3 40.3 91.5 91.5 80.1| 35.4 71.6 15.6] 12.9 13.98 13.4) 113 12.4
# % 7% B L) 500me/0LLF|  mg/0 106 106 130 130 183 183 170|114 158 122 111 118 118 103 110
e o4 4 v Rom oE M A 0.2me/0LL F|  mg/0 <€0.02 <€0.02 <€0.02 <€0.02 <€0.02 <€0.02 <€0.02 <€0.02 <€0.02 <€0.02 <€0.02 <0.02
v ES 7 2 N > 10.00002me/02AF|  mg/0  [<0.000001{<0.000001{<0.000001{<0.000001{<0.000001{<0.000001{<0.000001 <0.000001{<0.000001 <0.000001| <0.000001 <0.000001
2 — AF L A VKR L X F — s |0.00002mg/08L F| mg/0 |<0.000001]|<0.000001]<0.000001]<0.000001]<0.000001]<0.000001|<0.000001 <0.000001{<0.000001 <0.000001| <0.000001 <0.000001
¥ o4 A& v B om WE A 0.02mg/QLA [  mg/0 €0.002 <0.002 <0.002 <0.002[ <0.002 <0.002 <0.002 €0.002[  <0.002 <0.002 <0.002 <€0.002
7 = J — 2 $ | 0.005me/0LL F|  mg/0 <0.0005[ <0.0005[ <0.0005[ <0.0005| <0.0005| <0.0005| <0.0005 <0.0005| <0.0005 <0.0005|  <0.0005 <0.0005
HHwm (A HKK#FZ(TOC) D &) 3mg/0LA | mg/0 1.1 1.1 2.5 2.5 1.1 1.1 0.7 0.4 0.5 0.6] 03 0.38 0.9 0.3 0.4
P H fi& 5.8~8.6LLF| mg/0 7.1 7.1 7.2 7.2 7.1 7.1 82| 7.2 7.5 8.0 7.0 7.3 8.3 7.0 7.2
'S BHETRNIE FERL BERL B B BERL BHERL
L] K| BETRvze FERL FERL FHERL FERL FHERL S RL
&, B SHELLF i3 6.3 6.3 42 42 6.3 6.3 0.7 <0.5 0.21 1.2] <0.5 0.11 12| <05 0.2
i) i 2BELAF i3 0.5 0.5 16 16 2.0 2.0 <0.1] <0.1 0.1 0.3] <o0.1 0.0 0.1 <o.1 <0.1
HHWE G~ BT AW &) 10mg/0LLTF|  mg/0 4.7 4.7 7.7 7.7 4.4 4.4 1.4 09 1.0 1.2| 0.8 0.98 2.6 1.1 1.5
7 v ® = 7 & ® %K mg/0
i riEERE(BOD) mg/0 1.0 1.0
bt % mEg*FERE(COD) mg/0 4.9 4.9
L4 R (U V) | ok
w o ®H &' & (s s ) mg/0 12 12
' & M B BE R B mg/0 0.5 0.5 6.0 6.0
£ ® #( - N ) mg/0 0.63 0.63
£ v A (T — P ) mg/0 0.043 0.043
y w o w &k N A E K R mg/0
Y7 mEsun Ay AR E mg/0
T aE Y rsmna AL R R mg/0
7 v E Kk A A O R mg/0
[N = B S S S U -1 mg/0
033 B i) ES mg/0 0.92| 0.12 0.54 1.15] 0.20 0.69 1.15|  0.24 0.67




